Updwyhph wpdbunh whunwlwb pnjke

Swipbjul
Muufuh nl i tupdn
Cunnibbnipjwt nkntph pubwlp iy J&wupnih
(inupp/wdhu)
nLuniguwl
/h Uwutwghwunipjub Apuljwnpnudp hwdwp (gpud)
winjubnuip Unlu Zhpwlu Unju Zhpmlu
hhdtwmymi Uhguljuipg
ppnipyundp ppnipyundp Uhgtuljupg hhftmlwi Uhgtuljupg dpolmljupg Unlju ZEnuilju
wir{wp / wir{wp / ippmpjudp | Yppmpjudp | Yppmpjudp | Ypenipjundp
i Ydwpnyh Ydwpnyh
1. AnpShpuyht junwpnnuljub Twuwjwunnn-dwuwugkn
250000
wpytun (nuptwdnip/ gnpShpuyhtt junwpnnuju 4/ - - -
wpytunh /quptiudnip/ npud
2. AnpShpuyhtt junwpnnuljut Yuuw]ubnnn-dwubughn
wpybuwn (qupuyghtt gnpshpukp/ gnpShpuht junwpnnuljul 9/- ) 250000 )
wipytkuwnh /pun gnpshpubph npud
wnbuwlubnph /
3. Qnpshpuyht jutnwpnnuju Ywuujwinnn-duubwghn
wpytuwn (thnnuyht b gnpshpuyhtt junwpnpulju - ) 250000 )
hwpywbdwjhtt gnpshpubp/ wpytunh /pun gnpshputph npud
nbkuwljubph/ 3 wwph 10 wuhu
4. Qnpshpuyht juwpnnuijut Ywuwwinnn-dwubughn
wpytun (dnnnyppuljui gnpShpuyhtt junwpnnujuh 8/- ) 200000 )
gnpdhpubp/ wpykunh /pun gnpshpukpp npud
wnbuwlubnh/
5. Bpglgnnnipniu Bpghs-junnwupng 5/4 ) 250000 )
ppuy
6. Bpgswpudpudupnipnil Tuwuwduinnn-udpudup 1”1 ) 250000 )
npud
7. Bpwdonnipjul mbkunipnil Ywuunjwinnn
250000
Epwdrnughnwlui 1/1 - -
nbuwljwb wpwpluwubkph npud
8. NMupwpykun Yhpuuwh’ dngnyppuljub 411 ) 3 wnuph . 200000 )
huidnyph npud
9. Qhnutjupsnipniu Lljuphs-puuujuinnn 6/2 - 4 mmuph 10 wdhu 200000 -




npud

10.

‘thquyt (puwn &nintph’
ghinupybunuljut dhwynpnid)

Tthquyukp (puwn &minkph*)

5/10

4 mmupp

200000
npud




